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SECTION ‘A’ — ENGLISH

SSR

Read the following passage and answer questions 1-5 that follow:

It is to progress in the human sciences that we must look to undo the evils which have resulted from a
knowledge of physical world hastily and superficially acquired by population unconscious of the changes in
themselves that the new knowledge has imperative. The road to a happier world than any known in the past
lies open before us if atavistic destructive passions can be kept in leash while the necessary adaptations
are made. Fears are inevitable in time, but hopes are equally rational and far more likely to bear good fruit.
We must learn to think rather less of the dangers to be avoided than of the good that will lie within our grasp
if we can believe in it and let it dominate our thoughts. Science, whatever unpleasant consequences it may
have by the way, is in its very nature a liberator, a liberator of bondage to physical nature and in time to
come, a liberator from the weight of destructive passions. We are on the threshold of utter disaster or
unprecedentely glorious achievement. No previous age has been fraught with problems so momentous;
and it is to science that we must look to for a happy future.

1.

What does science liberate s from? It is liberate us from
(A) fears and destructive passions

(B) slavery to physical nature and from passions
(C) bondage to physical nature
(D) idealistic hopes of glorious future

Should human sciences be developed because they will

(A) provide more knowledge of the physical word

(B) make us conscious of the changing world

(C) make us conscious of the changing in ourselves

(D) eliminate the destruction caused by a superficial knowledge of the physical world

If man's bestial yearning is controlled

(A) the future will be tolerable

(B) the future will be brighter than the present
(C) the present will be brighter than the future
(D) the present will become tolerable

Fears and hopes according to the author

(A) are closely linked with the life of modern man
(B) can bear fruit

(C) can yield good results

(D) are irrational

To carve out a bright future man should

(A) analyse dangers that lie ahead
(B) try to avoid dangers
(C) overcome fear and dangers

(D) cultivate a positive outlook

Choose the correctly punctuated sentence.
(A) However, David did not achieve his goal.

B) However; David did not achieve his goal.
C) However: David did not achieve his goal.
D) However! David did not achieve his goal.

Choose the correct meaning of the phrase: A new broom sweeps cleanly.
(A) Changes in society are good

B Changes are made energetically by the elderly

(B)
(C) Changes are made energetically by a newly appointed person
(D)

Changes are made energetically by a new judge
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Choose the correct alternative to correct the sentence

In our country women have an opportunities to rise to top in every walk of life.
(A) have been having opportunities

(B) have had opportunities for a raise

() have opportunities to rise

(D) will be have opportunities to rise

Choose the appropriate synonym of the word : Hoarse
(A) Noisy (B) Harmful (C) Pleasant (D) Harsh

Choose the appropriate antonym of the word : Capitulate
(A) Conquer (B) Venerate (©) Destroy (D) Surrender

Choose the correct option that explains the meaning of the underlined phrase:
The factory turns out many garments in a day.
(A) proves (B) spoils (C) manufactures (D) destroys

Change Active to Passive Voice or vice — versa as the case may be.

12.

13,

Choose the correct Active / Passive sentence:

(A) I had 500 INR in my wallet, but | lost it.

(B) I had 500 INR in my wallet, which has been lost by me.
() | lost the 500 INR | had in my wallet.

(D) The 500 INR in my wallet is lost.

Has the work been completed by you?

(A) Has you completed the work?

(B) Have you completed the work?

(C) Have you been completing the work?
(D) Is the work complete?

Change Direct to Indirect Speech or vice — versa as the case may be.

14.

15.

"Do you write a good hand?" the teacher said to the student.

(A) The teacher asked the student if he would write a good hand.
(B) The teacherasked the student if he can write a good hand.
(C) The teacher asked the student if he has written a good hand.
(D) The teacher asked the student if he wrote a good hand.

The customer asked the waiter if he could book a table for dinner that night.

(A) The customer said to the waiter, “Can | book a table for dinner tonight?”
(B) The customer said, “Can | book a table for dinner tonight?”

) The customer said to the waiter, “Can | book a table tonight?”

(D) The customer said to the waiter, “Could | book a table for dinner tonight?”

Choose the most appropriate alternative to complete the sentence :-

16.

17.

| bring fresh flowers______ the lovely lady coming from the seas.

(Ay  for (B)  off (9] in (D) to
the nine gods, he swore.

(A) at (B) of (C) by (D) into



18.

19.

20.

21.

22.

23.

24,

25.

Two gold jewellery sets were given to by my grandmother.

(A) them (B) our (C) me (D)

I was to know that everybody was fine.

(A) pleasant (B) pleased (C) pleasing (D)

The garden sweet with flowers like the rose and the jasmine

(A) was smelling (B) had been smelling

(€ smelled (D) None

He * his employees kindly

(A) was treating (B) treats (C) treated (D)

Nowadays a great many things from plastic.

(A) made (B) are being (C) are made (D)
men must be punished.

(A) An (B) Those (C) The (D)

He was vexed Sohan for his behaviour .

(A) with (B) upon (C) at (D)

What is the exact meaning of the word : Comical
(A) cheerful (B) eminence (C) arrest (D)

SSR

pleaseful

treating
is made
Each
to

depend
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SECTION ‘B’ — SCIENCE

W&t 9w giw /Choose the correct answer :-

Tolien faradies &1 faar & FHE &I

& EEl g afea

Cil IO 3mafer T HIofg FaeT

The dimensions of plank's constant are the same as those of :-

(A) Energy (B) Power

(C) Angular frequency (D) Angular momentum

v ¢fAE df F IW & e W 3oTem o § AR 3 IO W 3 gws e s @
e & sia (3Weas 3ug W) dfa f afg & ofenia axar § 2

Sier &7 997 e BT &

diel &1 @O 4 Biell &

el & caxor 9.89A%. ¥ §g ITar §

131 AN F FIS QI

A tennis ball is thrown straight up and caught at the same height. Which of the following can describe
the motion of the ball when it reaches the apex?

(A) The velocity of the ball is zero.

(B) The acceleration of the ball is zero.

(C) The acceleration of the ball is 9.8 m/s2 up.

(D) None of these

U aF] S T SiEedy e A TR 49T & g WM &, HEWTS §I 8-

® 39 9K UF A¢ g F Tl §
g 39 W T AT T H FRAl ©

A a9

) 3H W HIS ITTcAhNIT Sl HI gl AT &

12} Wﬁﬂ % HNUT dg i’ﬁi HHT & 91¢ & Sl &
An object moving at constant velocity in an inertial frame must:
(A) Have a net force acting on it

(B) Have zero net force acting on it

(C) Not have any force of gravity on it
(D) Stop after some time due to gravity

3 RAelaI# & Gag#T aTell UaF 9 1 #1e 6 Fa1s & RIS SiTeh & 51 a8 9 ST & gl &

FhehT a1fcrst Fott grefi-
A body of mass 3 kg is dropped from the height of 1m. The kinetic energy of the body will be

when it touches the ground.
(A) 294 N (B) 294J () 150 N (D) 150 J

50 fehelY GETHTET AT SIS Tolte & Y O) 1T TR derst & &R 9 @1 & | AN a1 8- =g
AT ST & | A R 5ms™ & Ueh AT caoT & AN 6 AR deh g, A w0 H AT Fr

A boy of mass 50 kg is standing on a weighing machine placed on the floor of a lift. The machine
reads his weight in newton. What is the reading of the machine if the lift is moving downwards with a

uniform acceleration of 5ms>?
(A) 240N (B) 480N (C) 720N (D)  None of these
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TF i feTeel 10 .. foF Fars arelr 3R e 0.5 @, AL &6 gl X Fud g el FAiay ant & s
feua § afe art & &/ fos gfr 1 #@ral. e & Se, d fRaeT S g 9Iven ? Sel & gSS Ja=72

SS-aA AL E
A water film is made between two straight parallel wires of length 10 cm each and at a distance of 0.5
cm from each other. If the distance between the wire is increased by 1mm, how much work will be
done ? Surface tension of water = 72 dynes/cm

(A) 288 ergs (B) 72 ergs (C) 144 ergs (D) 216 ergs

Cp

. F AU €

ZRAURATII IO a1 Tk A A/ IW & F fafree FwAw

In a gas of diatomic molecules, the ratio of the two specific heats of gas —E—‘i is:
v
(A) 1.66 (B) 1.40 (C) 1.33 (D) 1.00

e g &1 araa= 39 aREaY & aA & T § IRa § e arel 3 g gle arer fafaor &
ATl I

& Sl a e Ell 3d 13 TRl e | ST

A body has same temp. as that of the surroundings. the ratio of radiations emitted and radiations

received from the surroundings is
(A) Zero (B) One (C) Infinity (D) None of these

efaf@a # ¥ 9 gi¢ I o I9 W H9T Fia-31aie F giad= 781 fG@men 2

& Teh HTHT Aleieh g T Sifas e

T U fERd des T AT RS

Which of the following will not show the change in their time period when they are taken to moon?
(A) A simple pendulum (B) A Physical Pendulum

(C) A torsional pendulum (D) None of these

AT v eiaT o Jmafer Sere 8 Sl 3R Sweh arfer R Tl @, e ader e B

CY 3TerT g sfr g

T yofEfda &, F=TC @R E 3] T4 XL

If a wave's frequency doubles and its speed stays constant, its wavelength is
(A) Halved (B) Also doubled

©) Unchanged, as c is constant (D) Now 4 x longer

wmq#amg&w@um:ﬂm%ﬁﬁWwR#r.%wmﬁmﬁa%%mﬁm

W RAHa 80 V& 9 & &g WX &g fAsa ¢ -
F L g 80V el 800 V 3] 8V

A hollow metal sphere of radius 10 cm is charged such that the potential on its surface is 80 V. the

potential at the centre of the sphere is
(A) Zero (B) 80V (C) 800 V (D) 8V
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afe; U faega ateT ity # € ToRe &, s fFa

F  EEATYEF AR g VA YER AR
a Seafad g SATaT & 3] AT Y FS AT
If an electric current is passed through a nerve, the man

(A) Begins to laugh (B) Begins to weep
(C) Is excited (D) None of these

SIS Ueh TR 0T Ueh AT oaidhed aTel 817 3 YRl Ll 8, dfclet Fofl-

& R N war g @ godrg

T gedrg 3} Y B ST &
When a charged particle enters in a uniform magnetic field, its kinetic energy
(A) Remains constant (B) Increases

(C) Decreases (D) Becomes zero

U Fiehe 7 4RT e Med & I

® GRT Jegrafeld gral &

g Hihe # glay Y= ©

T i A RFca I &

51 yferier 3R 9Rhea at &7 T &
Current in a circuit is wattles if

(A) Current is alternating

(B) Resistance in circuit is zero

(C) Inductance in circuit is zero
(D) Resistance and inductance both are zero

Hraad garT G viFwR & afee Aga -

Maxwell's modified form of Ampere's circuital law is:

(A) $B.dS=0 B)  $B.dl = yyi

©  $B.dl =pyi+ =% (D) $B.dl = pgi + poe, £

T OTeT & &Y Ucdd ool UGG H 9T § —

& Hlel 9 33 T CIC] 13§ CEic)
A plant with green leaves placed in red light will appear

(A) Black (B) Green (C) Red (D) Violet

qT=AT T T g 8 3To1eT-31eAeT sl H fasnfSid g7 Sl & | & 92 & 3feex 3R 916K &l W gard 1 3T

&7 g4 ?
& BT §g & TR g 39 BN g T 3T

a 39 BT §g FT 1/4 q BICT g T G
A water drop is divided into 8 equal droplets. The pressure difference between the inner and outer

side of the big drop will be:
(A) Same as that for smaller droplet (B) 1/2 of that for smaller droplet
(C) 1/4 of that for smaller droplet (D) Twice of that for smaller droplet
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AR & Hia MEafiea or 61 s 78 &7

& GroeleT 3cqoih T gelerglel HTIR

a Hoge q 3T 8T

Which of the following is not a mode of radioactive decay ?

(A) Positron emission (B) Electron capture
(C) Fusion (D) Alpha decay

3T ATAT T (AM) Ued R & AT & wa 3GfT F AR RBeAe F W Ingfa i args
T R FARMYT FHIT SAar & ar AM aer 1 irgha g

A message signal of frequency w,, is superimposed on a carrier wave of frequency w, to get an
amplitude modulated wave (AM). The frequency of the AM wave will be:

(A) Wm (B) we C) (0 + )2 (D) (wm — w )2
qTedT T IEATS FORT Uleil § __ Sl 3TRYT & HROT AT & |

F FRFH Fethe Gl HiceaH sHElac

a #AfTafga gethe g FICTH FaARES

Temporary hardness of water is due to the presence of

(A) Calcium sulphate (B) Calcium bicarbonate

(C) Magnesium sulphate (D) Calcium chloride

SUTITRIT & GISSISIAIAOT U Sefet aTel gISgIhIast 3 grAgIoled LT T W& fohctah g1 & 2
What is the number of hydrogen atoms present in the hydrocarbon formed by the hydrogenation of
ethylene?

(A) 4 B 6 () 8 (D) 2
USIISa UTee o ERTeT YIE A T=eh HTHTeham glan g -:
® faege sraeea g STel e
a gET - 3] e
The primary chemical reaction during enzymatic digestion is
(A) Electrolysis (B) Hydrolysis
() Lipolysis (D) Condensation
HTST & AR H o T 1 JUTT el STl & 2
& HITARIT g ARRIZS
Ell 9y 13§ ColtgT
Which gland in the human body is called the master gland?
(A) Pancreas (B) Thyroid
(C) Pituitary (D) Spleen
Teh e Tl & Sl fob FoRiaeniy et st ol eIt & sffed Fan e |
is a program that translates mnemonic statements into executable instructions?
(A) Software (B) Assembler
(C) Translator (D) None of these
Aefafaa #% Fa1 ve #ifos aRad= § 2
& feheT I &1 ST g g4 T WeT Bl
T @I &1 99T T QTeFeRY 3T Tl 3 Fefell
Which of the following is a physical change?
(A) Burning of cooking gas (B) souring of milk
(C) Digestion of food (D) Dissolution of sugar into water
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SECTION ‘C’' — MATHEMATICS

W& SW MY /Choose the correct answer -

A={1,2 345 B={a, b, c, d}

AR FA-B @ f={(1,d) (2 a)(3.c) (4, a) (5 c)} EaRT &MAT 7T &

ar f({1,2,3)=?

A={12 34,5 B={a, b, c, d}and f A—B is given by

f={(1,d)(2, a)(3,c) (4, a) (5 c)}. Thenf({1, 2, 3}) =?

(A) {d. c, ,c} (B) {a,cc} C) {d, d, a} (D) {d. a,c}

al%8a* frEdh TN &
a'%8aX js equal to
(A) 1 (B) 0 (C) X (D) a

IR 16x2 =81, dl x = ?
If 16x2 = 81, find the value of x.

(A) 714 (B) 9'/4 (C) 81116 (D) 4 /9
I ab,cgHF A & &, aF FHAFT a(b-c)x*+ b(c-a)x +c(a-b) =0 &

® aredfas R Fose 7o § g A A &

T F aredfew A AQ g A R

If a,b,c are in HP, then the equation a(b-c)x*+ b(c-a)x +c(a-b) =0

has

(A) real and distinct roots (B) has equal roots

(©) has no real root (D) none of these

Fefghe T 200dT ,a200 9g ATd &,

285 8 11

Find the two-hundredth term, a200, of the sequence

2:5: 8 17,

(A) 399 (B) 499 (C) 599 (D) 699
Sin0°e=?

(A) 0 (B) 1/2 (C) 12 (D) V312

U Hafeys SIS (1, ) qu o fFEd fF FHeor 2x+3y=5 & T% & & ¥
Complete the ordered pair (1, ) so that it is a solution of the equation 2x+3y=5
(A) (1,2) (B) (1,1 (C) (1,3) (D) None of these

Y= 2x 3R y = 3x & THAEAT TETHT T SIS 37T THHI0T & AT E2AT
Represent lines parallel to y = 2x and y = 3x by a second degree equation
(A) BX° — 5xy +y° + (3C; + 2C) X+ (—C1—C) y +C1 G2 =0

(B)  BX°=5xy+y +(3c, +2C) X+ (—=C;~Cp)y-C1C =0

(C)  6X°=5xy+y*+(3c; +2C) X-(—C1—=C)y-C1C =0

(D) None of these

x? +y*=16 #1 fdeg (8,0) & 2WT 9T &= HI0T &7 AT § -

The measure of the angle at which the circle X2 + y2=16 can be seen from the point(8,0) is,
(A) 30° (B) 60° (C) 120° (D) 150°

10
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Ife {@T 3x-4y+5 = 0, T y° = 4ax ¥ TILT Y § T a=
If the line 3x-4y+5 = 0 is a tangent to the parabola y2 =4ax, thena =
(A) 15/16 (B) 5/4 (C) -4/3 (D) -5/4

TF @ e defeas YA dUR & W & | 98 Ycdd BT @ Uh ot g5 Ul &l
W%lqﬁmmaﬁ%ﬁmam@mmﬁmﬁraﬁmﬁﬂm%,a’r
e # g T GE&AT FH F &7 fhder g ?

A teacher is making a multiple choice quiz. She wants to give each student the same questions, but
have each student's questions appear in a different order. If there are twenty-seven students in the
class, what is the least number of questions the quiz must contain?

(A) 5 (B) 4 (C) 3 (D) 10

Ao o o5 Pt ABC & O 9Rdws § | G %g& § 3R O cisdheq ¢ dlFf Hiew O & #eaw §
FaTT 1T ¥ 31T FH: 3=0A, b=0B and c=0C, & gaRT gy 7T § aF F+b+¢ ¥

Let O be the circumcentre, G be the centroid and O' be the orthocentre of a triangle ABC. Three
vectors are taken through O and are represented by

3=0A, b=0B and c=0C, then 3@ +b +C is

—_— —

(A) 0G (B) 20G (C) 00 (D) _ none of these
loge(1 + 3x + 2x2) & fAFaR & for@sl o x" &1 0T T & 2

The coefficient of X" in the expansion of log, (1 + 3x + 2x%)

®  DED @ () 2r+ D
(C) (znnﬂ) (D) None of these

fear sm & &6

A={x: XTI F I AT TTE } andB = {y: yanch—cﬁ#ﬁgammqm%}
Find () AN B

Given that

A = {x: xis a king out of 52 playing cards} and B ={y :y is a spade out of 52 playing cards}
Find () AnB

(A) A n B={ King of spade}

(B) A n B= { All 13 cards of spades}.

(9] A n B={ All 4 Kings}.

(D) None of these

TWH GIaer ¥ Aeafaif@d & 8 $id § g8 $F JAidd giar § ?

% AT g qgeE a cHs ATET HHIAOTAT A
Which of the following is affected the least with extreme observations
(A) Median (B) Mode (C) Harmonic mean (D) Arithmetic mean

R amw ga x4y’ + 27 -2y-4z+1=0, x+2y+2z-15=0 F F7 §
The centre of a circle given by >(2+yr2 + 2% -2y-4z+1=0, x+2y+2z-15=0 is
(A) 1.2:4) (B) (1.-3.4) (€ (1.34) (D)  (1.34)

11
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TR AR E IR ag A & & 3587 @ &F W9 &1 39 Icfeos &4 @ 99 a& gfem & s
t 9 g% @9 ANAT T gar F I A0 A ST GAFar 6 Fad & geqult FT HETFAT &

fRca=r & 2

There are four machines and it is known that exactly two of them are faulty. They are tested , one by
one in a random order till both the faulty machines are identified. Then the probability that only two

tests are needed, is

(A) 13 (B) 106 €y 12 (D)
gl & : lim,_,, a_’:_(:z

Solve :

lim,_,, aXX_—1

(A) loge a (B) —log.a (C)  logge (D)

It f(x) = |cosx-sinx| , d@F (n/4) FTF s &
If f(x) = |cosx-sinx| , then f(n/4) is equal to
(A) V2 (B) -2 (C) 0 (D)

WaeH y'=4ax F U o & W I Feft Y@r # e §
For the parabola y2=4ax, the ratio of the sub tangent to the abscissa is
(A) 19 (B) 21 (C) xy (D)

[ sec’x dx frEe ST &

[ sec?x dx is equal to
(A) tanx+c (B) -tanx+c
(C) sec x+c (D) None of these

: e
A n v fawe o quith &, a9 L7og 5 aNeY g
T
—17
If n is an odd natural number, then E:-t:(}",% equals
v

(A0 (B) 1n @ == (D)

I A =05T IFR T & F 1<n<d & BT A" 21§ ar (1-A) aweT &
If A% = O such that A" I for 1<n<4, then (1-A)" equals

A A B A (C)  1+A (D)
i C= 2cosh, aF RIS
C 11
A=|1 C 1|/ AT FAT§ ?
6 1 C
If C= 2cos0, then the value of the determinant
C 1 1
=l1 C 1|is
® Jned inad .
sin4 sin cos
(A) sin@ (B) - sinf (C) cos@ (D)
3,52
Jy 2x* —5dx =7
(A) 2 (B) 3 (C) 4 (D)

12

1/4

None of these

None of these

none of these

None of these

None of these
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SECTION ‘D’ — GENERAL KNOWLEDGE
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39 IR H ggu S A av geAfd @ g #X

Identify the figure that completes the pattern.

? 4 . H H
(X) (1) @) (3) (4)
Ay T (B) 2 Cc 3 (D)

3 3T H Jgd= S @Y v geIfa @ g W |

Identify the figure that completes the pattern.

?
X) (1) (2) (3) 4)
(A) 1 B 2 c 3 (D)
&Y arlt siwe T hieT AT 3ok qoi HYam

Which number will complete the given series?
0,5,22,57,?,205
(A) 198 (B) 116 (C) 172 (D)

T IRAY AT A |, ITSAT AT AT DY -
In the given series find the number which is wrong
81,64,49,35,25,16

(A) 64 (B) 35 (C) 25 (D)
TERe T Tl ¥ 3¢ YR § S Ul T HEU AT A
& E 1S g g ar Ll g
Sweepisto.......... as wash is to Soap.
(A) Broom (B) Dust (C) Floor (D)
HET ad=T g -
Identify the correct spelling :-

(A) Admissible (B) Admisible

(C) Admissiblle (D) Addmissible

13
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12.

13.

14.

15.

SSR
U AT 3N U 3T v FAy # 8 &) 3 f arg 3 31T S 99 FHesneE &) 98 AR AT

AR & g1

A man and a woman are sitting in a room. Man’s mother in law and woman’s mother in law are
mother and daughter respectively. Man is the........................ of the woman

(A) Father (B) Father in law

(C) Uncle (D) Grand father in law

12 feTe Td 1 ©er & &7 379rd g1 -
What is the ratio of 12 minute to 1 hour ?

(A) 23 (B) 1/3 (C) 15 (D) 114
e, T T 3T THR § § S A T HaE ag

& THRTOT g EiRc) T TSl 3] SagH
Dullisto ............... as intelligent is to clever

(A) Bright (B) Foolish (C) Insane (D) ldiot

e OUT & 152120 s AT Srar & @, IN &1 &1 I8 e simeen

If QUT is coded as 152120, IN will be coded as
(A) 1015 (B) 819 (C) 1813 (D) 914

mwmré;aﬁaﬁam#mé’r#'m’W%W%ﬁg&ﬂ%?

H st EC o STereTqR T Tl 13§ &R

“UJALA”, the National LED programme has been recently lauched in which city of Madhya Pradesh?
(A) Bhopal (B) Jabalpur (C) Gwalior (D) Indore

TR HTTT HHIROT AR & fove U8 & I ¢ 2

® FolicsH g I a 33T o RECICH
Bhitarkanika Wildlife Sanctuary is located in which state of India?
(A) Karnataka (B) Kerala (C) Odisha (D) Telangana

=g Aol & 3 §9 Q NS a9 & U FF I 5T F 7 & H % 1037RETT FH FIeT Gt
&r gwor $r g ?

3T g B Ell ISR q e

Which state government has recently declared 10% reservation quota for Economically Backward
Classes (EBCs) in general category?
(A) QOdisha (B) Tripura (©) Gujarat (D) Sikkim

IR AR D= RS & S weTaRmelr € g
F oo 3T @r @ uduvd a oo 3T S T SAH ¥ SIS AdT

The e is the effective border between India and the People’s Republic of China.
(A) LOC (B) LAC
(C) LOG (D) None of Above

FTS HT 0T 3ok IRg#AT Torid 3R Fradm I AT wa A R>—ITE

& grferedrst g FiaTeTeer Cil SaTer 3] G
The Rann of Kutch located in northwestern Gujarat and the bordering Sindh province of
(A) Pakistan (B) Bangladesh  (C) Nepal (D) Afghanistan

14
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17.
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19.
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22.

23.

SSR

I[CAT SR ST HHTUY hieT AT ?
& g | ) oo I a THeACd a TheTed

]

Who was the founder of the Gupta dynasty?
(A) Chandraguptal (B) Chandraguptall (C) Samudragupta (D) Skandgupta

TTSTOT J4T & W91 ohT Ggell Grelc] Ie] hleT &7 ?
® e g Fedll a RIE! 2J ae

The stone Age people had the first domestic

(A) Asses (B) Dogs (C) Horses (D) Sheep
ﬁmﬁ@aﬁﬁﬁamﬁwaﬁgmmwﬁa

F I ATgF 3oac U] Ecl gAIGR gl gHIG,

T A Aar= g g AR WHATY AT

Who of the following was the first recipient of the Param Vir Chakra, gallantry award?
(A) Lance Naik Albert Ekka (B) Havildar Abdul Hamid

(C) Major Shaitan Singh (D) Major Somnath Sharma

z s ITe Feg Fid @1 U Feaar § ?

& Fhicas g CICS R T doq q IRRAS
Which country is called "The Land O'Cakes" ?

(A) Scotland (B) Belgium () Wales (D) Ireland
T TAY Ay g

In banking ATM stands for
(A) Automated Tallying Machine

(B) Automatic Teller Machine
(C) Automated Totalling Machine
(D) Automated Transaction of Money

HiT AT 8T ARGAT HT A HeoraT & 057
F A9 @ W T uds @ awe |

Which region is often called " The Land of 5 Rivers " ?

(A) Punjab (B) France (©) Thailand (D) Bangladesh

“To Kill a Mocking bird” T&cish & oi@& § ?

& A o e ey 9T g o g A A=Y

The Author of the book “To Kill a Mocking bird” is ?
(A) Amitav Ghosh (B) Alice Munro (C) Harper Lee (D) Patrik Modiano

oI &T AU & 2

ED gare g ESCC a Uy TIRE 3rerar
The Capital of Argentina is?
Havana (B) Canberra (©) Buenos Aires (D) Ottawa

15
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25.

C
T

Nand Lal Bose, Manjit Bawa, Tyeb Mehta are

(A)
(C)

ATEAT 3Tk
BT ’REeR

Classical Singers
Photographers

$TH W FeT W I T © ?

C
a7

Which among the following is a martial dance?

(A)

(C)

FUEHT
HIY A & BF

Kathakali

Chhau of Mayurbhanj

(8)
(D)

16

SSR

FIST wfa
ICEGIEY

English Poets

Painters

AU T 99 F I
I T HETST

Bamboo dance in Meghalaya

Bhangra of Punjab



